/*

Copy and paste this into the Arduino IDE, and it will become a lot more readable.

A small program for the use of a Bluetooth app running on an Android device, to toggle pins which are connected to relays (ch 1-4) 

or to MOSFETS(ch 5). The number of channels is easely expandable, just PortB0 if you need one more channel, or any other port

for more than 6 channels, make sure you don't interfere with PD0 and PD1. If the duty cycle on channel 5 is 50% for atleast 

0.3 seconds, and morse-encoded easter-egg is triggered. Channel 1 will start blinking fast, the encoded text is/should be:

"hackaday.com".

Don't copy and release this code without my permission, contact me on thom.kouwen@gmail.com

Use this code for personal projects only, this code is GPL licensed.

I'm sorry for the license stuff, but I read I should type this in the comments. No fear, people that have only want to use it for 

personal projects.

Youtube link: http://youtu.be/fwE0arC-zkw
*/

#include <Morse.h>

int key = 0;  //variable for the key of the received Bleutooth data

int val = 0;  //variable to know if the attached device needs to be turned on or off

Morse morse(13);  //the easter-egg, hackaday.com link in morse code, is on arduino pin 13, or PortB5

void setup()

{

  DDRB = DDRB | B111110; // set the entire PortB as output, execpt PB0

  Serial.begin(9600);  //start the serial port connected to both the computer and the Bluetooth module

  PORTB = PORTB ^ B111100;  //invert most of PortB, so all attached device are high, exept PB1 and the unused PB0

}

void loop()

{

  if (Serial.available() >= 2) //only read data from the serial port if there is data to be read

  {

      key = Serial.read(); //the Bleutooth app on the phone sends a key and a variable(on/off)

      val = Serial.read();

      Serial.print("key:"); //print the key and the variable to the serial output, attached to a computer

      Serial.print(key);

      Serial.print(" val:");

      Serial.println(val);

      if (key == 1 && val == 1) //channel 1

      {

        PORTB = PORTB ^ B100000; //toggle pin

      }

      if (key == 2 && val == 1) //channel 2

      {

        PORTB = PORTB ^ B000100; //toggle pin

      }

      if (key == 3 && val == 1) //channel 3

      {

        PORTB = PORTB ^ B001000; //toggle pin

      }

      if (key == 4 && val == 1) //channel 4

      {

        PORTB = PORTB ^ B010000; //toggle pin

      }

      if (key == 5) //channel 5, PWM enabled, not suitable for relays, use ch 1-4 for relays, or make adjustments

      {

        analogWrite(9, val); //write the received analog value (0-255) directly to arduino pin 9 or PortB1, I am figuring out PWM without the Arduino language

      }

      if (key == 5 && val == 125) //easter-egg subroutine, val 125 = 50% duty cycle

      {

        delay(300);

        if (Serial.available() == 0) // if this condition is met, start sending a morse-encoded message on Channel 1

        {

              morse.dot(); morse.dot(); morse.dot(); morse.dot(); delay(300);

              morse.dot(); morse.dash(); delay(300);

              morse.dash(); morse.dot(); morse.dash(); morse.dot(); delay(300);

              morse.dash(); morse.dot(); morse.dash(); delay(300);

              morse.dot(); morse.dash(); delay(300);

              morse.dash(); morse.dot(); morse.dot(); delay(300);

              morse.dot(); morse.dash(); delay(300);

              morse.dash(); morse.dot(); morse.dash(); morse.dash(); delay(300);

              morse.dot(); morse.dash(); morse.dot(); morse.dash(); morse.dot(); morse.dash(); delay(300);

              morse.dash(); morse.dot(); morse.dash(); morse.dot(); delay(300);

              morse.dash(); morse.dash(); morse.dash(); delay(300);

              morse.dash(); morse.dash(); delay(300);

        }

      }

  }

}
